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1N @UE-31 ( Section-A) 10x1=10
& 89 % faigem e fafl@q)  Find out the viloknam of 89...
- T o a0 o 3 fore 9 0 4 -3 9 o 2 @
Polynomial whose sum of zeros are -3 and product of zeros
are 2. 1 .
X W aw T Find the value of following :
tan 49°
Cot4l’
A 8w WA fia - E’Tfﬂ? Find the Param Mllra Ank of 8,
J 140 Ft 39T UAETS F w1 § faat

Write down 140 in the form of Prime Factorizalim.
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A. A‘ A 7 sl ¥ ZACB =40°81 9 LAOB @
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1% In given fig ZACB =40° Than Find ZAOB

P ﬁaﬁim@ﬁmm @ﬁaﬂaﬁﬁﬂfa{m% ?ﬁ‘mmﬂﬂm
A F
The shadow of a vertical pole in equal to hight of pole. Find

the angle of elevation of sun.
P.T.0. wuz
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& X In given fig of BCllDE than find the value
o :
B of AC.

4 Qﬁa"ﬂ-‘-lﬂﬁ'ﬂiﬂ 1014 MP % ) 5 it 3o 6 HifC
If the total S.A. of c.ube in 1014 Met® than find the side of

‘1/2(. a2 =0 7 : Prove that : rbseonline.com

. !%=COFH+COSEC9
Y et 74 |5 T oo doT E)
Prove that 2+ .5 is an Irrational number.
. = fag & e iR o fargat (-2, 1) 9 (3,74) 9 fremy
e Y 23 3 v orfaifi e &

Find the co-ordinate of point which divides the line segment
joining «(-2,1) and (5,4) in the ratio of 2:3 intanally.
17, A faem AT Yol T 0 e 3 @ 4 290 €

If the sum of square of two conscicative number in 290. than
find the numbers. '

cube.
. a%3,4,8,5,x,3,2, laﬁﬁmwmﬁ"ra‘rxﬂmm
i) -
If the mean of -3, 4, 8, 5, x, 3,2, 1 than find the value of x.
= @Ue-a ( Section-B) 5x%2=10 . _
g _y/ Afiw fafs § =FE FBC- Subtract by Vedic Method : "
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@UE=T ( Section-C )

€))

10x3=30
feg 1 foz § Ivifirs sk QR W
TF B AR wAfEEg APQR ¥ SQR
for ¥ | fag Ffe fis SP T@1 ZQSR
it wufgres e g

In given fig two triangles PQR and

SQR are on the, same base QR. Than .

prove that line SP bisects ZQSR.
7§ arpta § ABCD e w1 Tga
A X T y I UA I HU
In fig. ABCD is a

quaduilatural. Than find the value of
xand y,

qﬁ16%w7ﬂfﬂzsﬁwﬁumﬁﬁ%l

If third term of A.P. is-16 and '?th term is J2gaage than Slh term,. .

then find AP, .
/ﬁm % : Prove that :

Sin 60" + Sin 30

_fan 60" + tan 45"

Sin 60" - Sin30°

tan 60" - tan 45"

(ﬂxmﬁ%ﬁﬁmﬁﬁﬁlﬁéﬁ( -2,-5) iR (2, 3)%%

W e

Find the point on x-axis which in equidistance from point

(-2, -5) and (2, -3)

- fow 0 o e foreg 2 i e e e €
Prové that tangent from an extaion point to a circle are equal.
Lﬁ/ﬂf&ﬂ%qummmﬂmgm & T R 60° T T
¥ 199 & farer e 7@ W9 w5 oig § 10 et 5 W e 3
T2 A v gu i Swnd 9@ R (5 =1.73)
* A tree in broken by wind. The top struck the grund at an angle
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J* and at a distance of 10 Met. from root. Find the whole

-.z2ht of tree.

S faa 7t s feit fvw 91 o s &5 R it i e Frger
310 3 (sl SR T 7 g 3 g o g
fawifea =t ¥
Prove that If a line in drawn parallel to one side of a triangle
intersecting the other two sides. Than It divid the two side in

same ratio.

J/mqaﬁwﬁﬁzmm%|qammmmaaﬁql

If the circumference of circle in 44 Met. than find the area of

circle.

7%, S 9 PUC & 19w # 1 e T 0 o ¥

What do you mean by PUC of a vehicle and why it is necec
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sary for each._
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@uEg-% ( Section-D )
26. mmwﬁmﬁfaﬂmﬁu

Sx4=20\

Solve followmg pair of linear equation grapical.

2x+ 3y =

; Sx-2y=4

. AABC =7 tq«rr-mq;ﬁmﬁ grrn BC= 3.8cm. £B = 60° a1

/C= 35°ﬁwa#qﬁnﬁqaﬁmaﬁml '

Construct a AABC is which side BC= 3.8cm., 4B = 60° and |
. Z£C = 35° Draw a circumercle of this triangle.

" T T F1 9., =, . A 53¢ 2%mﬁwamw{ﬂfqﬁu

WSSScmz%ﬁwmmmmﬁn

The ratio of length, breadth and hight of a cuboid is 5:3:2. If

total S.A. of cuboid in 558cm” Than find their edges.

Jé =1 == w2 w1 95T 9 Sifee-

Find the mode of following disterbution :

Tt (Class)

10-25

25-40| 40-55) 55-70| 70-8585-100

AR ( frequency )| 6

20 44 26 3 1

L}w’ amﬁﬁﬁmﬂmm%imﬁwm%ﬁ:%m
=t "wemst w1 9 7 gy

LY

Two dice are rolled simultaneously. What is the probability that
sum of two numbers appeared on dice will be 77

50 E=I
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